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There are 50 multiple-choice questions included in this test. Each of
them has only one best answer and a weight of 2 points.

1. If supply is elastic in the current price range, an increase in price would
A.  increase the total revenue of producer sellers.
B.  decrease the total revenue of producer sellers.
C. not affect the total revenue of producer sellers..
D. beinsufficient information to tell what happens to total revenue .

2. Dick owns a dog whose barking annoys Dick’s neighbor Jane. Suppose that
the benefit of owning the dog is worth $500 to Dick and that Jane bears a cost
of $700 from the barking. A possible private solution to this problem is that

Jane pays Dick $450 to get rid of the dog.

Dick pays Jane $650 for her inconvenience,

Jane pays Dick 3650 to get rid of the dog.

There is no private solution that would improve this situation.

SoRr»>

3. Suppose that the government imposes a tax of 10% on the first $40,000 of
income and 20% on all income above $40,000. What is the tax liability and
the marginal tax rate for a person whose income is $50,0007

Both are 12% and 12% i

12% and $50,000 respectively -

$6,000 and 12% respectively

$6,000 and 20% respectively

o oW

4, Aperfectively competitive firm is able to sell its product for $5 and realizes an
average total cost of $5. Its marginal cost curve crosses the average total cost
curve at an output level of 10 units, What is the profit earned by the firm at its
current level of output?

A, 80

B. -$50

C. $100

D. None of the above
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5. In a perfectly competitive market, a decrease in demand will
A. have no effect on prices
B. cause quantity supplied to go down before returning to the original level
of output.
C. cause prices to go down before returning to their original level.
D. have no effect on total market output.

6. If wages rise, profit maximizing firms in competitive markets will
employment and marginal product of labor will
A. Increase, rise
B. decrease, rise
C. increase, fall
D. decrease, fall

7. At the current price ratio, a consumer chooses to consume Y, units of
commodity “Y” and X, units of commodity “X”. If commodity Yisa
normgl good for this consumer, a rise in consumer income will necessarily
precipitate ’

A. anincrease in the consumption of X.
B. adecrease in the consumption of Y.
C. anincrease in the consumption of Y.
D. adecrease in the consumption of X.

8. You are given the following information with respect to a firm’s output
position: marginal product of factor A=4; marginal product of factor B=2;

price of A=88; price of B=$4. Assume that the firm is at its maximum-profit
output. Then marginal revenue must be:

A.  50cents.

B. $1.

C. $2.

D:.  zero. ' '

\

sl
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Firm B
I v -
I |Cella $60 | Cellb $50-
Firm A '$25 $15 . «
Il |Cellc $40 | Celid -$10
$10 $20
Figure A

9. Figure A above shows a payoff table for firm A and firm B. In Cell a, firm A
obtains $25 and {irm B obtains $60. Which strategy is a dominant strategy for
firm B? '

A.  Strategy III.

B. Strategy [V. ' :

C. Both strategy III and strategy IV are dominant strategies to firm B.
D. None of the strategies available to firm B is a dominant strategy.

10. As shown in Figure A above, which cell is a Nash equilibrium?
A.  Cella,

B. Cellb.
C. Celle. N
D. Celld.

11.  Your budget constraint for the two goods A and B is 30A+5B=1, where [ is
your income. You are currently consuming more than 72 units of B. In order
to get 4 more units of A, how many units of B would you have to give up?

A, 017

B. 0.04

C. 6

D. 24

12. Hartman’s utility function is U(x,,x,)=x,x,. His income is $100. The price
of good 2is p, =4.Good 1 is priced as follows: The first 15 units cost $4
per unif and any additional units cost $2 per unit. What consumption bundle
does Hartman choose?

A, (12.5,12.5)
B. (25,12.5)
C. (125,25
D. (1510)
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13, Miss Chen insists on consuming 2 units of good A per unit of good B. If the
price of good A is $6 and the price of good B is $3, then if Miss Chen’s
income is $M, her demand for good B will be: -

A, M3,
B. 6M/3.
C. 3M
D. M/15.

14,  Charlie’s utility functionis x,x,. The price of good A used to be $1, the price
of good B used to be $2, and his income used to be $40. If the price of good A
increased to $7 and the price of good B-stayed constant, the substitution effect
on Charlie’s good A consumption reduces his consumption by:
17.14 units of good A.
6 units of good A.
8.57 units of good A.
13.57 units of good A.

Sawp»

-

15. 'Wang has quasilinear preference and his demand function for x is
D(p)=15— p/3. The price of x is initially $15 per unit and increases to $24

per unit, Wang’s change leads to a consumer surplus whose value is the

closest to:
A, -168. :
B. -76.
C. -27.
D. 75.

16. Harry’s demand function for blueberries is x =20-2p, where p is the price
and x isthe quantity demanded. If the price of blueberries is $3, then what
is Harry’s price elasticity of demand for blueberries?

A, -6/14
B. -2/20
C. -2

D. -14/6
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! 17. The demand function for corn is g =200- p and the supply function is

i g=50+0.5p. The government sets the price of corn at'$150 and agrees to
purchase and destroy any excess supply of corn at that price. How much -
money does it cost the government to buy this corn?

A 11,250

B. 18,750

C. 7,500

D. 10,750 1.

18. The demand curve forrutabagas is a straight line with slope -5 and the supply
curve is a straight line with slope 5. Suppose that a new tax of $3 per unit of
rutabagas is introduced. Which of the following must certainly be true of the
change in equilibrium prices and/or quantities?

A.  The total number of rutabagas purchased increases.

B. The price paid by demanders rises by same amount as the price received by
suppliers falls.

C. The price received by suppliers falls by more than the price paid by
demanders rises.

: D. The price paid by demanders rises by more than the price received by

1 suppliers falls.

19. The production function is given by f(L)=6I*, where L is labor.
Suppose that the cost per unit of labor is $16 and the price of output is $12.
How many units of labor will the firm hire in order to maximize its profit?

” A 54
B. 27
C. 135
D. 81

20. A competitive firm has a long run total cost function C(y)=2y*+162 for
y>0and C(0) =0. Its long run supply function is described as follows:
y=pl4 if p>36; y=0 if p<36.
y=pl2 il p>34; y=0 if p<34.
y=pl2 if p>39; y=0 if p<42.
y=pld if p>39;, y=0 if p<39.

U owr
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21. A firm has the shorl run total cost function C(y)=16y* +144 ., At what
quantity of output is short run average cost minimized? ‘

A 3 _ u . .
B. 4 L )

C. 9

D. 133

22. Consider a competitive industry with several firms all of which have the same
cost function, C(y)=3y*+4 for y>0andC(0)=0.The demand curve for
this industry is D(p)=50- p, where p is the price. The long run

equilibrium number of firms in this industry is:

A 4 | -
B. 23.
C. 25 .
D. 46.

23. A monopolist has the ‘Egtal cost function, C(q) =1400+10¢ and the inverse 1
demand function is p =130-5¢, where prices and costs are measured in )
dollars. If the firm is required by law to meet demand at a price equal to its
marginal cost, then

A.  the firm’s profit will be zero.

B. the firm will loses $700.

C. - the firm will make positive profit, but not as much profit as it would make
if it were allowed to choose its own price.

D. the firm will lose $1400.

24, Anindustry has two firms, The inverse demand function for this industry is
p=190-6¢g . Both firms produce at a constant unit cost of $28 per unit. What

is Cournot equilibrium price for this industry?

A. 28 .
B. 3l )

C. 82

D. 41
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25. Two stores are located side by side. They attract customers to each other and
to themselves by advertising. The profit functions of the two stores are
120+ x,)x, —2x] forstore 1 and (150+x,)x, ~2x2 for store 2, where x,
and x, are total ‘advertising expenditures by stores 1 and 2 respectively. If

each store sets its advertising expenditures independently (as in Nash
equilibrium), how much would store 1 spend on advertising?

0w

42
44
39
47

26. With a Cobb-Douglas production function, the share of output going to labor:

0w >

decreases as the amount of labor increases.
increases as the amount of labor increases.
increases as the amount of capital increases.
is independent of the amount of labor,

27. If the real return on government bonds is 3 percent and the expected rate of
inflation is 4 percent, then the cost of holding money is percent.

S aowp

1

~1 £ W

28. An effective policy to reduce a trade deficit in a small open economy would be

to:

oW

increase tariffs on imports.

impose stricter quotas on imported goods.
increase government spending.

increase taxes.

29. If the purchasing-power parity theory is true, then:

Uow»

the net exports schedule is very steep. -

all changes in the real exchange rate result from changes in price levels.

all changes in the nominal exchange rate result from changes in price levels.
changes in saving or investment influence only the real exchange rate.
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30. Assume that some large foreign countries decide to subsidize investment by
instituting an investment tax credit. = Assuming that the home countryisa
small open economy, then the home country’s real exchange rate: -

gaowp

will fall(i.e. depreciate) and its net exports will rise.
will rise(i.e. appreciate) and its net exports will fall.
will fall(i.e. depreciate) and its net exports will fall.
will rise(i.e. appreciate) and its net exports will rise.

31. If adollar bought 1,000 lire ten years ago and 1,500 lire now, and inflation for
that period was 25 percent in the United States and 100 percent in Italy, then:

A,
B.

C.

D.

the purchasing-power parity theory is correct.

for American residents, traveling in Italy today costs about the same as it
did ten years ago.

for American residents, traveling in Italy is chéaper now than it was ten
years ago.

for American residents, traveling in Italy is more expensive now than it was
fen years ago.

32. If the fraction of employed workers who lose their jobs each month (the rate of

Jjob separation) is 0.01 and the fraction of the unemployed who find a job each

month (the rate of job findings) is 0.09, then the natural rate of unemployment

is:

oowp

1 percent.

9 percent.

10 percent,
about 11 perceﬁt.

33. Sectoral shifts:

Dowp

lead to wage rigidity.

explain the payment of efficiency wages.
depend on the level of the minimum wage.
make frictional employment inevitable.
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34. Government policies directed at reducing frictional unemployment include:
abolishing minimum-wage laws,

making unemployment ‘insurance 100-percent experience rated.
increasing the earned income credit.

Dowp

making government part of the union-form wage bargaining process.

i
35. If the per-worker production function is given by y =42, there is no

population growth or technological progress, the saving ratio is 0.2, and the
capital depreciation rate is 0.1, then the steady-state level of output per worker

(y)is:
A1
B. 2
C. 3
D. 4

36. Assume that two countries both have the per-worker production
1
function y = &2, neither has population growth or technological progress,
depreciation is 5 percent of capital in both countries, and country A saves 10
percent of output whereas country B saves 20 percent. If A starts out with a
capital-labor ratio of 4 and B starts out with a capital-labor ratio of 2, in the

long run;
A. both A and B will have capital-labor ratios of 4.
B. both A and B will have capital-labor ratios of 16.
C. A’s capital-labor ratio will be 4 whereas B’s will be 16.
D. A’s capital-labor ratio will be 16 whereas B’s will be 4.

37. If alarger share of national output is devoted to investment, then living

standards will:
A. always decline in the short run but rise in the long run.
B. always rise in both the short and long runs.
C. decline in the short run and may not rise in the long run.
D. rise in the short run but may not rise in the long run.
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38. If all wage income is consumed,; all capital income is saved, and all factors of
production earn their marginal products then:

A. the economy will reach a steady state level of capital stock below the
Golden Rule level.

B. the economy will reach a steady-state level of capital stock above the
Golden Rule level.

C. wherever the economy starts out, it will not grow.

D. wherever the economy starts out, it will reach a steady-state level of capital
stock equal to the Golden Rule level.

39. If the economy moves from a steady state with positive population growth to a
zero population growth rate, then in the new steady state total output growth
will be and growth of output per person will be

lower; lower ' ‘

lower; the same as it was before

higher; higher than it was before

higher; lower

S0 wp>

40. Ina Solow Model with"technc‘)logical change, if population grows ata 2
percent rate and the efficiency of labor grows at a 3 percent rate, then in the

sieady state output per worker grows at a percent rate.
A, 0O
B. 2
C. 3
D. 5

41. In a steady state with population growth and technological progress:
the capital share of income increases.

>

B. the labor share of income increases.

0

in some cases the capital share of income increases and sometimes the labor
share increases.

D. the capital and labor shares of income are constant.
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42. Ifthe central bank reduces the money supply. by .5 percent and the quantity
theory of money is trué, then: ) .
A. every point on the aggregate demand curve moves 5 percent to the left.
B. every point on the aggregate demand curve moves up 5 percent.
" C. the aggregate demand curve moves down and to the left, but it is impossible
to determine exactly by how much.
D. the aggregate demand curve moves up and to the right, but it is impossible
to determine exactly by how much.

43. If central bank A cares only about keeping the price level stable and central
bank B cares only about keeping output at its natural level, then in response to
an exogenous decrease in the velocity of money:

A. both central bank A and central bank B should increase the quantity of
money. .

B. central bank A should increase the quantity of money whereas central bank
B should keep it stable.

C. central bank A should keep the quantity of money stable whereas central
bank B should increase it. '

D. both central bank A and central bank B should keep the quantlty of money
stable.

44, Inthe Keynesian-cross analysis, assume that the anaiysis of taxes is changed so
that taxes, T, are made a function of income, asin T'=7T+¢Y,where T' and
¢ are parameters of the tax code and ¢ is positive but lessthan 1.  As
compared to a case where f is zero, the multiplier for government purchases
in this case will: 1

A. not change,
B. be smaller.
C. be bigger.

D. beequalto 1.
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45. If marginal propensity to consume MPC = 0.75 (and there are no income taxes

but only lump-sum taxes) when T decreases by 100, then the IS curve for any

given interest rate shifts to the right by:

A,
B.
C.
D.

100
200
300 '
400

46. If money demand does not depend on the interest rate, then the LM cuirve is

and ‘policy has no effect on output.

oaow s

horizontal; fiscal
vertical; fiscal
horizontal; monetary
vertical; monetary

47. According to the IS-LM model, when the government increases taxes and

government purchases by equal amounts:

oowr

income, the interest rate, consumption, and investment are unchanged.
income and the interest rate rise, Whereas consumption and investment fall.
income and the interest rate fall, whereas consumption and interest rise.
income, the interest rate, f:onsumption, and investment all rise.

48. A fall in consumer confidence about the future, which induces con:sumers to

spend less and save more, will, according to the Mundell-Fleming model with

floating exchange rates, lead to:

0o >

a fall in consumption and income.

no change in consumption or income,

no change in income but a rise in net exports.
no change in income or net exports,

49. In the Mundell-Fleming model with a floating exchange rate in a small open

economy, a rise in'the world interest rate will lead income:

A. and net exports both to falt,

B.
C.
D.

to rise and net exports to fall.
to fall and net exports to rise.
and net exports both to rise. .
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50. In a small open economy with a fixed exchange rate, if the government
imposes an import quota, then net exports:

decrease but the money supply falls and income falls.

increase, the money supply increases, and income increases.

are unchanged but the money supply falls and income falls.

are unchanged, the money supply is unchanged, and income is unchanged.

gow >
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. Find the derivative of the function f(z) = ($2 + %) (3z + 2). (1043)

. Find the interval(s) where f(z) = /6 — 2z is increasing and the interval(s)

where it is decreasing. (1043)
VT
. Evaluate the definite integral f\/_ 3zvz? +2 dz. (1043)
2
. Solve the initial value problem 2m2% =9 y(1) =1 ' (1043)
. &30 -1, ,
. Determine whether the series » — convergent or divergent.
n=0
If it is convergent, find its sum. (1043)
11— et'/2
. Approximate f — dt to six decimal place accuracy. (1043)
0 N

. Show that if f is differentiable and z = z + f (z/y), then all tangent planes

to the graph of this equation pass through a common point. (1043)

. Evaluate the double integral f .[R Ty dA; R is the region bounded by

y=+%,y=2~+/z and y-axis. (1043)
Show that 0 < Inz < 2 hen z > 1 (1043)
w . \/m__,w n .

. Find all relative extrema of f(z,y) = z'/3y subject to the constraint

sy =T, (1043)
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(a) FARILEIR “ma 840 B 8% BRI BRI ? _ (B 4))

(b) FREEESAUARHIIR R — B , BAMAE FTEEHIER “wo 8 4a B B 4 "I IR R

e _ (54)
2. Let X be distributed as Gamma(a, 8) and g is a bounded differentiable function,
Elg(X) - (X — aB)]
then find the value of = (1043) .

3. Suppose that the fraction of an hour during which a phone booth is unoccupied has
the probability density function f(z;6) =6-2z°!, 0 <z < 1. Based on a random
sample of size n, what is the uniformly minimum variance unbiased estimator of §?

(1043)  Also, find an unbiased estimator of % (1043)

4. Let T be a random variable denoting the life time of an equipment, which is distribut-
ed as Exponential(A). Then the reliability of the equipment at time £, say R(Z; A),
is defined as the probability that 7" > . In other words, R(f;\) = P{T >t }.

Based on a random sample of size n, find the maximum likelihood estimator of

R(Z; A). (10453)
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5. The length in centimeters of n=29 fish yielded an average length of

x=16.82 and s* =34.9. Determine the size of a new sample so that¥ +0.5

is an approximate 95% confidence interval for u. (1043

6. Let f(x,»)=1/8,0<sy<4, y<x<y+2 bethejointp.df.of X and Y.

(a) Find f,(x), the marginal p.d.f.of X. _(543)
(b) Determine A(y | x), the conditional p.d.f. of ¥, given X=x. _(543)

7. The density function of a continuous random variable X is given by

x(2—-x) for0<x<2
Fe) =G .
0 otherwise

(a) Find the value of k. (443
(b)Find E(X) and Var(X). _(643)

8. Inthe model y,=a+ fx,+u,,i=1,.,N, the following sample moments

have been calculated from 10 observations:

Yy=8 Dx=40 D yi=26 D xf =200 D xy=20
(a) Calculate the predictor of y for-x=10 (54)
(b) Obtain a 95% confidence interval for part(a). _(5 43>

9. Inthe regression model y, =a+ fx, +u, if the sample mean Xof x is

zero, Find out Cov(é&, /), where & and J arc the least squares

estimators of « and fS. (1043)




